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Question Number : 1 Question Id : 550053321 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

o

If f(x)=x’ —x and g(x)=sin2x, then f . gi%l ‘:
f(x)=x’ —x 206050 g(x)=sin2x eond, €92\ fg%)}:
Options :
1% 0
1



oo | L

-2

Question Number : 2 Question Id : 550053322 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3—-x%) N
|, then the domain of fis
./

For xR if f(x)=, [log,,

TS L o

%

| owd, vy oW pd%

_ (3-x
xeR §, f(x)=,[log,|

X

Options:



Question Number : 3 Question Id : 550053323 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
(0Y) (3 5 -7) (%)

Let A=|-6|,B=[0 -1 8 ;and X=|y|If D=[apy] is the solution of
8/ (6 -1 0) 2 )

X'B'=A" then D"A =

(0Y) (3 5 -7 (x)
A=|-6|.B={0 -1 8§ | oty X= yjeﬂméoom“o. X'B =A" g
8) (6 -1 0) z)

F3% D=[a 7] wowd, i D'A=
Options :

0

1. #

Question Number : 4 Question Id : 550053324 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If S=

[0 L]
S={1 01

110

]
1

0 11]
01|and A=—
-

10

Options :

1.4

3. %

2| —

abec

bca

cab

a00]
0b o0
_000_

(a 00|
0boO

_OUC_

'a 00]
210b 0

100c|

b+c c-a b-a|

c-b c+a a-b| then SAS™=

b-¢ a-ca+b

'b+c c—a b-a|

mﬁmA:é c-b c+a a-b

_b—c a— a+b_

290008, SN SAS™ =



Question Number : 5 Question Id : 550053325 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
i U 0 -1 01
If A= 1:B=l and C =| . then
0 —1 1 0 iR
X 1 0O TO—I s " 1 5 -
A= = s0dodn C= 9003, &3
0-il" |1 0 i )
Options :
A’ +B*+C* =3ABC’
1. ¢

2. %
5 x AT+B +C =31
4 x AP+ B+ CF =2ABC

Question Number : 6 Question Id : 550053326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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If z, =(2,~1) and z, = (6,3). then amp'i iz Bl

-
=

\Z,+2,,
Fo—ity |
z,=(2,-1) 2080 2z, =(6.3) WoNd,0 & amp| ——= | =
Ly 7Ly )
Options:
3 (1)
— = _Tan?| — |
4 \4)
1.¢
—a Tan'l[ -
2. % L
37 (1)
S Tan
4 \ 4 )
3. %
—+Tan 1‘ =
\4)
4. % ¥

Question Number : 7 Question Id : 550053327 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of all possible solutions of the equation z° +Z =0 is

72 +7 =0 HE8erDS 3“6,’}55330335 0\ FGDL ST

Options :



fhy

Question Number : 8 Question Id : 550053328 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2

[ﬁ(casﬁGolS'Jrisi1156$15')]

Options:

161

Question Number : 9 Question Id : 550053329 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

(1 Ti)mz# + (1 - i)2ﬂ24 —
Options :

1012
=2

~

r}lﬂl:

2024 -
1

-2

~1012 -
|

Question Number : 10 Question Id : 550053330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the values of k for which the equation X + 2(k+2)x+6k+7=0 has equal roots

arek and k. then k7 +k! =

2Me8m0 X +2(k+2)x+6k+7=0 2ar% darerody $DA eodotnd do k
a308), Jeoden k; 2o8oko k, wowd, ey ki +k; =
Options :

1.238

2.335:l
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Question Number : 11 Question Id : 550053331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If (3— Z\E]r_i ~ [fS—Eﬁi}xé_J: 6. then X" +x" +5=

(3+242) 4—(3—2\/5)?‘:4:5 0aNS, W)\ X $X +5=

Options:

L]
e

Tad
h

Question Number : 12 Question Id : 550053332 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the equation x* +ax’ +bx’ +cx+d =0 has three equal roots. then that root is
A’ +hx? +ex+d =0 2208dE0 QI HATH Qrosuv DA dof
w:%m 83 0TPRe0)

Options :

6¢c—ab
8b—3a’

ab—6¢
8b+3a’

6¢ —ab
3a’ —4b

6¢c—ab
3a’-8b

Question Number : 13 Question Id : 550053333 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If —11is a twice repeated root of the equation a(f +X2)+DX—.C:U. then
a:he=

(X + X )+ bx+ 0= 0 DLEPAS ~1 696 Botd A YPELAD
SroDB, Wi\ a:be=

Options:



—-1:1:1
2. %
R = et
3_%-5
R |
4. #

Question Number : 14 Question Id : 550053334 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: C, 288 3. nxC
If C,stands for °C,, then — 4+ 02 (2755, L BT Vel
: ] C{] {'11 CI Cu—l
O, 2xC () nxC
ﬂC.mC‘.Smﬂ&?g, SN Ly I TP s W
‘1 : Cn Cl Cz Cn—i

Options:

.
k=1

=]
k| =

=
I
il



Question Number : 15 Question Id : 550053335 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the number of diagonals of a regular polygon of n sides is 104, then n=
N-303700 (0 28 S LERs R Ség”?.) Roaf 104 290008, DONSIE
Options:

19

1. %

16

11

Question Number : 16 Question Id : 550053336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



a
—a,+2,X+a,X" +..., then L=
a

b2

c N a
(2-5%)5 =ag+aX+a,X" +... 0o0d, P\ —L=
da

-
L

Options :

fad | =

| k2

| =

W | B2

Question Number : 17 Question Id : 550053337 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of natural numbers less than 10000 which are divisible by 5 and that no
digit 1s repeated in the same number, is

W3 "«00&35935 2 2903 AT B0 SHOE B 5 B erfonad, 10000 o

e:#é%énﬂ &G D ‘Jooajige.i 'é:,c:a%

Options :



802

, % 602

702

4 v 1106

Question Number : 18 Question Id : 550053338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A team of 5 students is to be selected from 12 students. If two particular students are
to be included in that team, then the number of ways that such team can be selected
1

12 008 deiioes ooc § thh> Arjdowd’ s akodd JocoEerdy cold. aghth
A Dwsgmm %3 aag.anefie S0\ OT BoeywosS, wErold 2408 oS e
K:oaq]g
Options :
192

1. %

180

120
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Question Number : 19 Question Id : 550053339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
sin21°¢cos9” —cos84°cos 6 =

Options :

|

1. %

Question Number : 20 Question Id : 550053340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If 1+4/1+a :(1-|-\H—ﬂ )C(}T(xand 0 <a <], then smdo =

l+m=(l+ﬂ‘)mm S080in 0<a < leond, SN smdo =



Options :

1.v @

, x 24

Question Number : 21 Question Id : 550053341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

T cosA +cos3A+cosSA+cosTA
If A=—_ then =

24 sin A+sin3A+sinSA+smn7A
T cosA +cos3A +cosSA +cosTA
A=—— 0008, ¥ — . - , =
24 smmA+sm3A+smiSA+sin7A
Options :
3
1.4
, % 2+/3
1

4. %
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Question Number : 22 Question Id : 550053342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If sec(B+0),secH and sec(6—c) are in arithmetic progression, then sin” 6=

sec(0+01),5ecH 06050 sec(B—0) ew wos3E & Gobl, R\ sin’ f=
Options :

cos o
o % 2C080

= cosQ

—COs U

Question Number : 23 Question Id : 550053343 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If cosa+cosp=a and sino+smp=b, then match the items given in List - A
with those of their values in List - B

cos 0 +cosP=a Hobokw sinc +sinf=beond, #dee - A & LANS

090330002, 2 — B &' o8 Jensod zddabed

List—-A &do - A List-B @»dz -B
I B
0 tan[{CJE B‘: (@E
| 2 / El
() cos(a+p)= b fabz
a+b
() sin(a +p) = 2ab
a—b
TV - 21_p?
V) tan(o+B)= @ b2
a’+b
a’+b’
(e) al_bE
Options :

(I)=>@@) (I)—> () (I)— @ (IV)-> (o)

1. %

(I)>() (I)— (¢) (I)— (B®) (IV)— (e)

2. %

L0 M@ (Mo© (V) o)



(I)=>@ (I)>d) ([)— b)) (IV)->(©

4, &

Question Number : 24 Question Id : 550053344 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
: : 5 cosha sinh o
Itfi:li}ge(l—h/;). then + =
l—tanha 1-cotha
. cosh o sinh o
ﬂ,zlage[2+«/;]q 00BN — + =
- / I-tanha 1-cotha

Options:

44243

Question Number : 25 Question Id : 550053345 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. A B C
In AABC . if cot;:cot;:mtE:B:?:Q then a:b:c=

A B C
AABC &° cotT:CotE:cotE:B:?:Q 290038, DN g:brg—

o

Options :

Question Number : 26 Question Id : 550053346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

s= 1 | : :
In AABC,if —.— and —are in arithmetic progression, then r, ;1=

L I I,
AABC &° il Feblelov iV it en w08 33¢5° &od, WY L 1T =
E L E
Options :
1% 3:2

, % 2:1



Question Number : 27 Question Id : 550053347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If P,.P, and P, are the lengths of the altitudes drawn from the vertices A. B and C of
cosA cosB cosC

AABC respectively, then . ,
l:)1 PE P3

AABC odws) %E"w A. B So8csn C o 0d A &) &R TEDHR HET

P.P, swdaty B wavd, i CONgP-USHEEE
R B B

Options:

1

v R

. R

4, =



Question Number : 28 Question Id : 550053348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

2%’ +5x+6 b c

If — = + —+ _, then ab+bc+ca=
(x+2) X+2 (X+2)° (x+2)

2x% +5x +
X+‘¥,6: 2 g : _if = awané.wﬁhdaab+b£+ua:
(x+2) x+2 (x+2) (x+2)

Options:

1% 28

Question Number : 29 Question Id : 550053349 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



aandb are two vectors such that a is not parallel to b . If

p=(x+2y+3a+(x-y+2)b and  q=(2x+3y+5)a+(x-5y-2)b ae two
vectors such that 1_3: 2(_1, then x-2y=

208050 bew a & b Drosdo 98 Got wB%ey. p=2q ecbikom
p=(x+2y+3)a+(5x-y+2)b 8ot q=(2x+3y+5)a+(x—57-2)b e Bocd
PA3VONS, WYY X-2y=

Options :

Question Number : 30 Question Id : 550053350 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

3i- 2] -k <3- _| +3k and —i+ w] _ 2k are the position vectors of the vertices A. B

and C ofa AABC respectively. If H is its orthocenter. then HA +HB+HC=
AABC aiog) 977 A. B d0daio € o 37 dédden dtoar

_} I ; JHk A8a50 —1+1J % H od o?méb wotaSogio oS,

93@3@ HA‘|‘HB‘|‘HCZ



Options :

, x 2SA

Question Number : 31 Question Id : 550053351 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let 7, be the plane determined by the vectors i+2j and 3j-2k. Let T, be the

plane determined by the vectors ]—EK and 3k =21, If 6 is the angle between

m, and 7,, then cosb=
i+2] SoBoko 3j- 2k v AFSch| Swod> T, wdadoero. j+ 2k
8ok 3k ~2i di%wi AFISsahy deody T, edusomro, T, Bk T,

065§ &0 0 wond, DONAR B

Options :
7
1 % 26



14
29

Question Number : 32 Question Id : 550053352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a=2i+3}, b=3j+4k and o =51 +4kare three vectors, then a vector which is
perpendicular to a and bxc is

a=2i+3) b=3j+4k baso ¢=51+4ken ured $8993, wip\ a

5080k bxC 0% voworr &of 8 063

Options :

45i-30j+15k

| —30i+20j+4k



—45i+30j+4k
4,

Question Number : 33 Question Id : 550053353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let @:2{—33& OB = i—4j—3£ and OC = —Bi—j;iﬁ be the position

vectors of three points A, B, C respectively. If G is the centroid of triangle ABC,

then BC? +CA’ + AB'+9(0G) =

0A=2i-3j+k, OB = i-4j-3k 280w OC = -3i+j+2ken 36 A, B, C

9 e Dot gﬂfé ResoRDeco. Gabawo ABC dng) 3o & G

i

0008, By BC*+CA + AR’ +9(0G) =

Options:

v 162

Question Number : 34 Question Id : 550053354 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The variance of 20 observations is 5. If each one of the observations is multiplied by
2. then the variance of the resulting observations is

20 D830d0 Jd 5. T &' DA B0 2 S rioddcy HBSDGIY

263000 DS
Options :

40

1. %

Question Number : 35 Question Id : 550053355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If two subsets A and B are selected at random from a set S containing n elements,
then the probability that AnB=¢and AuB=S, is

1 Areseen (D8 Db S dod oﬂrdrh%éorw Goch &ddddow A, B oo
20508, SN AnB=¢ 800 AUB :Se.ed?% R0EP[S

Options :



2% 2

2ﬂ4-1

4 % Pim e

Question Number : 36 Question Id : 550053356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a game. a pair of dice 1s rolled 24 times. If a person wins the game by not getting
6 on both the dice in any one of the 24 rolls, then the probability that a person wins
the game is

w8 BOY 08 2 SPASVRL 24 PP BT, & 24 DfOrS 0 F0 S
Bocty g0 DI 6 &0 JTodd (3 estad’ BruTockereh wRuS 08, WP\t a8
S8 @ wtd A0S 0L

Options:




Question Number : 37 Question Id : 550053357 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Bag B, contains 4 white and 2 black balls. Bag B, contains 3 white and 4 black balls.
A bag is chosen at random and a ball is drawn from it at tandom, then the
probability that the ball drawn 1s white, 18

200 B, & 4 8 8o 2 390 80800 677 aw. Roc) By 6 3 8 b
4 3R 208000 &%) A, 28 Do AIrE ST JochS R &7 Aoc. w3 803
QP SOT B, 03\t B DY wod LAk oer(d

Options :
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T4d

i
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Question Number : 38 Question Id : 550053358 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If four dice are thrown simultaneously. then the probability that none of the dice
shows the number 1 on its face, is

Teoth g0 Jesuod’ SN THE" D IS B DI voay 1

ArHd Foeeds ko oerS

Options :

1250
1296

Question Number : 39 Question Id : 550053359 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The range of a random variable X is {012} If P(X=0)=3C,
P(X=1)=4C-10C" and P(X =2)=5C~1, then the value of C is

w8 ofryNd o3 X arg {0.1.2}). P(X=0)=3C", P(X=1)=4C-10C"

ot P(X=2)=5C-1 wong, SN (C cﬁmsb DS

Options:

S | = W | B

| LA

W | =

Question Number : 40 Question Id : 550053360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If eight coins are tossed simultaneously, then the probability of getting atleast six
heads is

IVNB THOR AS5008 IS DR, R\ 4D%0 esth o) 00 HEERS tfo

faow:35e3



Options :

2. &

Question Number : 41 Question Id : 550053361 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The locus of a point which 1s at a distance of 2 units from the line 2x-3y+4 =0and

at a distance of \/1_1 units from a point (5,0), is
2x-3y+4=082 &0 2 ohrdd) drdesdr daty (5,0) Doty &ood

VI3 050ty 008" g0 Dociosd) v Docdeso
Options :
8x” +12xy+56x—24y+84=0

1. %

i T ~ o e
S v 12Xy -3y —56x+24y+84 =0



8x” +12xy+y —56x+24y+84 =0

3. %

L 8x° +12xy—7y —56x+24y+84=0

Question Number : 42 Question Id : 550053362 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The combined equation of the lines passing through the point (3.4) and each making

an angle 45° with the line X +y+1=0 1s
(3.4) Docthas thor Fer 0Bty X4V +L=026¢ 08 28198 45° Serd)

SR00) Gaw g &) ¢ RDEGmAN
Options:

Xy—4x-3y+12=0
1.9

- (Bx—2y-DN(x-2y+2)=0

(3x+2y—-17)(x+2y-11)=0
3. %

4w Xy—4x+3y+12=0

Question Number : 43 Question Id : 550053363 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equal sides of an isosceles friangle are given Dby equations
Tx-y+3=0and x+y-3=0. If the slope m of the third side is an integer, then
m=

w8 "ﬂ}m%wm 82020 olnégj 2:80% w0 ADEGETR TX -y +3=0 H8akw

X+y-3=0. Jared oo a8, TP 1 @S t.’g_jﬂgoé@@, W\ M=

Options:

-

=27

Question Number : 44 Question Id : 550053364 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In AABC the coordinates of the vertex A are (-3, 1). If the equation of the median
through B 15 2x+y-3=0 and the equation of the bisector of angle C is
7x—4y-1=0, then the equation of the side BC is

AABCS’ 3¢ A ing) Adroseen (-3, 1). B dore Jab dockjries S
2Q0g6e0 2x +y-3=0 0By Seso € CAvg) 2B T2 0sdes0

Tx—dy-1=0 eond, Foadw BC dog), 208660



Options :

| % /X-3y=6
. 18X —y =49
3 % 15x +y =50
4% 4x-v=7

Question Number : 45 Question Id : 550053365 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
| : P ) ) .
If the lines given by (X" +y')sm” a=(Xcosa—ysimna) are perpendicular to each
& 7
other, then $m” o/ +tan” o =
‘ 2 . 1
(x*+y)sin’ a=(xcosat - ysina)’ 3 QG Gpew DB G0 vowarT &o,
. . ) 2
E‘.‘JQ_)D&J SINCoHfan o=
Options :

1

A

F | W



Question Number : 46 Question Id : 550053366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the area of the triangle formed by the lines y=X+¢ and 2x* +5xy+3y’ =0

5 .
is —sq. units, then ¢ =
20

; g s I
y=X+e HoBakm 2% +5xy+3y} = 082 08 Ddbd O0a STV ﬁé.mbgp
9003, RN €=
Options :

1@ = |

+4/2

2. %
+3
3. %
+4/3
4. %

Question Number : 47 Question Id : 550053367 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If the line passing through the points (5,1.a)and(3,b.1) crosses the YZ plane at the

(17 -13)

pomt 10, —,— |, thena+b=
3" 2

A

-13)
(5.1.a) &8s (3..1) Dothoape thor ek 6, YZ - w:)l\{lﬂ TIJ

¢ DOC, R\ a+b=
Options :

12

1. %

Question Number : 48 Question Id : 550053368 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AABC is formed by A(1.8.4),B(0.-11.4) and C(2,-3.1). If D is the foot of the
perpendicular drawn from A to BC, then the coordinates of D are

A(L8.4)B(0.-114)8080 C(2,-3,]) v 26\& Sabuo ABC. A dvod BC p3
AOD w08 e D ewond, @)y D dwg) Arasen

Options:

1.



L x (4-5.2)
s x (4—5.-2)

4 v (45.-2)

Question Number : 49 Question Id : 550053369 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The distance between two parallel planes ax +by +cz+d, =0, ax+by+cz+d, =0

‘d1 ~d, ‘

= 1t the plane 2x-y+2z+3=0 has the distances l and

is given by —
a +b" +¢ 3

units from the planes 4x-2y+4z+A=0 and 2x-y+2z+=0 respectively,

| 2

[——

then the maximum value of 1.+ 15

ax+by+cz+d, =0 HoBakw ax+by+cz+d, =00 Focd rods Sere) dod

-,

ATy m ey @, 4x-2y+4z+1 =0 dado 2x-y+2z+p=0

Sere A0d 2X-y+22+3=0 Serds ffo Grdhane QT 1 S V6lenY %
3 3

QPR OB, WRNYE 4+ ]I G0S), B Jeid
Options :

1 % 15



Question Number : 50 Question Id : 550053370 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let S be the circumcircle of the triangle formed by the line X—2v—4=0with the
coordinate axes. If P (=2, —4) is a point in the plane of the circle S and Q is a point
on S such that the distance between P and Q is the least, then PQ=

X=2y-4=0 8, drozsd D6\63 Saoao ) 56 Hdoio

S wxdoero. Hdo S Aing) Swod P2 —4) w8 Dok ek P wbat
Q © Sudy Brdo S0 woﬂaééaéc.p 0 S p &) S Docdsy Q wawd, LN
PQ=

Options :



Question Number : 51 Question Id : 550053371 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the coordinates of point of contact of the circles x*+y* -4x+8y+4 = 0
and X" +y +2x=0 is(a, b), then a+2b=

X'y —4x+8y+4 = 0 Sobow X' +y +2x =0 03 Sz @Y, Y
Do) Adrnzeen (a. b) wand, RN a+2b=

Options :

Question Number : 52 Question Id : 550053372 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the chord of contact of the point P(h, k) with respect to the circle
X' +y -4x-4y+8 = 0 meets the circle in two distinct points and it also makes an
angle 45° with the positive X-axis in the positive direction, then (b, k) cannot be

X'+ —4x-4y+8 = 0 Hydo aégné P (b, k) & Dochasty ciog), 6, &g,
& BF) ot D) Dok 3¢ vodifed Bk vd & X- wsed 68
838" 45 S o dre 51008, i\ (b, k) TLrEB

Options :

=

/

k2 | W
hs

2 | W

l‘-\.

Ll |~

Question Number : 53 Question Id : 550053373 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The equation of the pair of tangents drawn from the point (1, 1) to the circle
X +V +25+2y+1 = 0 s

X +Y 420+ 2y+1 = 0 58, (1 1) Dockoidy Aod A 96 Tar asorfyo
031356 205680



Options :

3" —8xy+3y° —2x—-2y+6 = 0

1. %
11" <8xy+11y" —4x—4y—6 = 0
2.
Tl . E_I?, a =
v 3X° —8Xy+3y" +2x+2y -2 0
X*—4xy+y  £X+y = 0
4. ®

Question Number : 54 Question Id : 550053374 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let the circle S=x*+y*+2gx +2fy+c =0 cut the circles x*+y" -2x+2y-2=0
and X" +y° +4x-6y+9 = 0 orthogonally. If the centre of the circle S =0 lies on
the line 2x+3y-2 = 0, then 2g+f =

S=x'+V +2gx+2fy+c=0 @A 0, X' +y -2x+2y-2 = ( Sk
X +Y +4x-67+9 = 0 zro vowdyto S odRubomro. Hydo S=0
g Sogo 2X+3y-2 = 0 26¥ B o, e 2g+{=

Options :



Question Number : 55 Question Id : 550053375 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let the equation of the tangent at a point P on the parabola x* —4x-4y+16 = 0 be

2X-y-5=10. If the equation of the normal drawn at P to this parabola is
ax+y+c = 0, then ac =

X —4x-4y+16 = 0 Hoedwaban wE Docod) P Bl QAL 0,0 28680
2X-y-5 = 0 eiosiorro. P3¢ & DTB0AErS (S edeow G2 20860
ax+y+c = 0 eoand, CONARNE

Options :

—20

h

|
Lh



Question Number : 56 Question Id : 550053376 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let x*+y* = 20 be the director circle of an ellipse E whose major axis is X-axis and
minor axis is Y-axis. If the length of the latus rectum of E is 2. then the distance
between its foct 1s

X- w50 brgo i, Y - w50 fpa(go mae ¢ wg 6 S0 E dng)
Dok B0 X+ =20 wioero. E ding) oo Tei 2 wowd,
CONes TR ag), TEHR 26| drdo

Options :

W2

(4

Question Number : 57 Question Id : 550053377 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If O1s the acute angle between the tangents drawn from the point (2. 3) to the
hyperbola 5%° - 6y” —30=0. then tan =

(2.3) Dockosyy &vod 5x” -6y ~30=0 edorduardd AR 96, Sv o
o 0w Sto § eond, S\ tanf =

Options :

g
4

= | W

W | =

o | =

Question Number : 58 Question Id : 550053378 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The difference between the focal distances of any point on the hyperbola

3 9
r.l’.

) ‘l})_z:l 15 6. If (\/ﬁ k) is an end pomt of a latus rectum of this hyperbola,
3
then k=

=

il _:_ =1 ediTsuaho p IBT o) dng) T droe i fo Hdo
a0 ’

6. & ©SHTSVOD OIS WS TH Vowo ALY, 2$ Wodi Dot (\/ﬁ.k)

IO, O k=

Options :

Question Number : 59 Question Id : 550053379 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



1
If £(x)=

18 continuous at all real x. then b=

{1+6x—3x{ x<I

x +log, (b2 +7), x>1

b

Xl

9 200D ) TR V0RJRL X HEG WD) A WONB, W\ b=

Options :

1@ El

Question Number : 60 Question Id : 550053380 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let f(x)be a real valued function. If £'(x)is a constant for all xR, f(0)=2 and
f'(0)=1, then

£(x) 28 T duref plabiviosorro. o) xR o, f'(x) w8 26o,
£(0)=2 sodao £'(0)=1 e, TS

Options :



f(x) 1s not continuous on R

R f(x) 9 50 57¢0

f(x) 1s continuous at X =0.1.2 and 3 only

x=0.12,30 3¢ drgdo f(x) E!Srfﬁt)égm

f(x) is continuous only on[0.=)

[0.0) 2 2 f(x) D)) S0

f(x) 1s continuous on R

Question Number : 61 Question Id : 550053381 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If {:R—>R defined by

: . &
sin X —sin
2. X<8
fx)=s X
VX —Vx
— X >0
Iz

is continuous on R . then f(0)=

, X
§in X —sin—
2. X<
f(};): X
VX —Vx
hbh e T
7

S

0 bdsrf}odmdé f:R>R pdoabo Bp eIy Sw wons, oo £(0)=

Options :

Question Number : 62 Question Id : 550053382 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If f(x)is a differentiable function, £'(x) 25 Yx €[2,6], f(2)=4andf(3) =15, then
a possible value of £(6)
£ (x) 28 w300 pdobaw, vy xe[2,6]oD £'(x)25, £(2)=4m00w

£(3) =15 0008, @y f£(6) g ﬁﬂcﬁ?smoijé w8 Dend
Options :

ey
Lo =24

lies between 4 and 15

4 15 & o‘.‘x.)c_ﬁis &otod

Question Number : 63 Question Id : 550053383 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If f(x)=yx+sinx. then all the points of the set {(X. f(x))/f'(x)= O} lie on

f(x)=vX +sinx ond, {(x.f(x)};"f ()= O} A cos) eDocﬁJéJe.Jbl

Options :

1. %



a circle

208 Oydo O &otrow

a straight line

20S DY S eotrow

an ellipse

28 BYDHyBo D Gotraw

a parabola

4w S DT DVOO0 O E0LTTON

Question Number : 64 Question Id : 550053384 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
 logx Ly dy )
If y=—— then the value of x"—+3x—+y at the point (\/E e ] 1S
X dx~  dx
logx s &y dy
y=—— wad, ey (\/E.Jg)eﬁomég S X' —5+3X—+ aog) Dewd
X 0 dx' & 4
Options:
0

1.



Question Number : 65 Question Id : 550053385 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let f(x) be a differentiable function, A(0,at) and B (8,f)be two points on the curve

y=f(x). Given f(0)=2and {'(4)= _; If the chord AB of the curve is parallel to

the tangent drawn at the point (4, 4]] then f=

f(x) 28 wdgdaDh Rako, y=1(x) 9% 2 A(0.a)&8cn B(8,B)en Goc

3
Hocoden wdvomro. £(0)=2 Sdakw f'(4) = B8 od. Hdo AN
AB, Dot (4.£(4)) 56 AR 8, G2 datrodBorr eold, ey f=

Options :

1. —4

2 % —6



Question Number : 66 Question Id : 550053386 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the tangent drawn to the curve y=x’-ax’+x+1 at each point x € R , is inclined

at an acute angle with the positive direction of X — axis, then the set of all possible
values of ‘a’is

y=x' -ax’ +x+1 S8 98Docy xR H¢ Hdd Dy8)8, X - wgo 8§
038" w080 3 T8 eol, et 7 ding), Fdjoak| ey devdw

s,

Question Number : 67 Question Id : 550053387 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The number of points on the curve y=2t"+3t-5and x=t"—4t" =3t such that
the normals drawn at them on the curve are parallel to X — axis i

y=2t +3t-5 &Bao x=t ~4t" -3t 3 3o & DokidHe ¢ A

00t X-05ds ddrodtorr &oftkn T &o&t Dot 203

Options :

1

1. %

Lad

Question Number : 68 Question Id : 550053388 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If A={x/9x2x"+20} and f:A—R is defined by f(x)=2x"-15%" +36x-48,

then the maximum value of f{x) is
A={x/9x2x" +20} 2oéaty f:A-5R& f(x)=2x"-15x" +36x-48 7
bﬁs&?g, R0 fX) diog) AL dewsd

Options :



Question Number : 69 Question Id : 550053389 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

— |dx=Ax +Blog
| 9e™ —4e™ |

If I 4e* + 6™

(9&“—4)‘+C. then (A, B) =

J.I % lax = Ax+ Blog‘(?ezx —4]
|\ 9e" —4e ™ | '

+C eoond, ¥@ (A B) =

I
td Lad
Lad | Tl
N | Lh

Sl R el g




Question Number : 70 Question Id : 550053390 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

dx

(x*42)

dx
(X +2)

If f(x) :J. and £(y2)=0, then f (0)=

f(x)=] B08080 £(32)=0 waxd, e £(0)=

Options :

P

22

Question Number : 71 Question Id : 550053391 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



(2 +sin2x )
Je“ S — ) =

| 1+cos2x

Options :

e” secx+C

e tanx+C

- e* cotx+C

e* cosecx +C

Question Number : 72 Question Id : 550053392 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
d
; 4 2 ; scang
1= J (X" —2x7)dx. then I is minimum at a =
—a

L= J (x* —2x%)dx evo0d, N e I S0 ewadyy a=

Options :



Question Number : 73 Question Id : 550053393 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

.. . (sinx)" dx T
S i(sin X}‘E +(cos XJ‘E 12
6
1]
3
f(x)d
Reason (R) : J (%{: = ;:
Ty f| = 2 r
Ei(h}ff > K]
3 gl
(sinx)" dx R
Ry (A): = = =
2 i(sinx)“c—.(msx)"c 12
]
X
3 ~
f{x)dx T
svcsm(R):j >n o=
%f(x}Jrf!tE—x
Options:

A is true, R is true and R is the correct explanation of A

A “@@50. R “'.-Jre:ﬁsﬂ S08030 R 2036 A Cfix}S& DO DD
1. ¢



A is true, R is true but R is not the correct explanation of A

A D0, R 0¢d0 570 R 938 A c3wg), 2T Deddes S°edd

A is true, R 1s false

A “ﬁ}égo. R E_*J‘rfae‘_"?éc

3. S
A 1s false . R 1s true

A @‘b@ém R f-aejgo
4, % .

Question Number : 74 Question Id : 550053394 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

15
If [x] is the greatest integer not exceeding X, then J X [x] dx =

-{.5
15
[X] 998 X 03 Qodd (82} RPTroshn wand. J X°[x] dx =
05
Options :
4.5
1% 4
3
A



W
&
! T
-Ié"'_.h

-2
i)
-]
N

4. %

Question Number : 75 Question Id : 550053395 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
50T
J 1—cos2x dx =
0

Options:

.« —10042

10042

LA
-2

5042

Question Number : 76 Question Id : 550053396 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



{

X +5 5 .
If f(x)= and | f(x)dx =|(f(x)+g(x))dx, then ofx)=
e js() lm 2(x)) o(x)
3 . & 5 )
f(x)= Y70 So6aiw Jf(x)dx:'[[f(x)Jrg{_x)]dx 29003, 9\ g(X)=
12+x % )
Options:
‘i—};s
12 —-x
1. ¢
F g
L 124x /
2. %
X’ 45
V12 +X
3, %
54+%°
12 -X
4. ®

Question Number : 77 Question Id : 550053397 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The area (in sq.units) bounded by the curves x* =9y, (x- 6‘]2 =9yand the X- axis
is

dgdve x° =9y, (x- 6)2 =9y 08ain X- 0ganusd HoREa TR0

(5. osrened’)



Options :

Question Number : 78 Question Id : 550053398 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The substitution X=Vy converts which one of the following differential equation to
an equation solvable by variable separable method?

X=VY 003 DOE0H & 508 0d508 2sdmres’ 39 JFadab S6Tie
636" FHosdA w8 wdged 2I8ROT ArddI0d?

Options :

X' dy —ydx =4/x° +y° dx

2. %

3. ®



\ /

Question Number : 79 Question Id : 550053399 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

dy . : . . ;
If d ={(x,y) is a homogeneous differential equation, then the general form of
X

f(x.y) is

dy .
53800 HR&be d—3: f(x,7) 28 2205808 202660 od, iy
h¢

f(x,y) chog), o 6ro

Options:




K* f(x,y).n=1

Question Number : 80 Question Id : 550053400 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
ok 1
e C [(dy R [dy)e
The order and degree of the differential equation | — | -2/ — | +xy=0are
\dx” ) Ldx
respectively
= !
¥ dE}r ) .fdy. \l; :
980 'é}b.)édeam‘ — | =2 J +Xy =0 0ing) HOerea0 i S
') ldx -
QDT
Options :

3andl?2

3 Subodwn 12

3and?2

3 udadw 2

3 and4

3 i 4



3and 6

3 06aiw 6

Physics
SectionId: 5500538
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response: =
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 81 Question Id : 550053401 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following the least unit for length 1s
$08 T8 TEDD VBND) DI
Options :

parsec

o DS S

nanometer

T3 Doerdd

2. %



fermui

angstrom

Eﬂmﬁé?fu
4, % -

Question Number : 82 Question Id : 550053402 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The time of flight of a vertically projected stone is 8 s. The position of the stone after
6 s from the ground is

(Acceleration due to gravity = 10 ms ™)

9800 BRI 6 §

NANL)f 2820 B3R Trow HEPOLY 0 § 5. FPD ok D

S gﬂéo

(oo (60 =10 ms™)
Options:

20m

2« 60m

75m

4% 40 m



Question Number : 83 Question Id : 550053403 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A stone thrown with velocity ‘u’ at angles ‘0" and (90°-0) with the horizontal reaches
to maximum heights H; and H; respectively. Its horizontal range is

28 oD §w0d ‘0 wBotn (90°-0) Sered’ §DAdo v & pEDo B w8 3

B2 oen HARm Hi dodakw Hy. wand o) £82 dirods &

Options:

4 /H H,

2

2H1H;

Question Number : 84 Question Id : 550053404 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two vectors of same magnitude act at a point. Twice the product of the magnitudes
of two vectors 1s equal to the square of the magnitude of their resultant. The angle
between the two vectors 1s

2,8 000 o) Both) DAL 2,8 DotdY S D BRI 0. & DAY
DOATTFL V&0 GIVE) DR Do) T8 B HBATE0 TS VATFINS, ¢
%0 oy S

Options :

1 = 60°

90°

4w 120°

Question Number : 85 Question Id : 550053405 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A car of mass 1500 kg is moving with 20 ms” velocity. If the breaks are applied it
comes to rest in 5 seconds, then the retarding force is

03 1500 kg o 8 560 20 ms” St & S0 6. oD BHen
03800 S0 6 5 S’ iy 23S S8, wod I MWewwiw
Options :

. 9000N



, » 6000 N

12000 N

3000 N

Question Number : 86 Question Id : 550053406 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A Dody 1s made to move up along an inclined plane of mclination 30° and the
coefficient of friction is 0.5, then its retardation 1s

(g - acceleration due to gravity)
080 30° Subakw e heaso 0.5 (0 o0 SRS w8 SWY SOTED

B3R PR es:sé‘sdcao

(g - thobxe &qdeao)
Options :

2 ++/3
(5

1.4



(' 2 + xflg)
2 g
.

4,

Question Number : 87 Question Id : 550053407 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A machine gun fires 300 bullets per minute each with a velocity of 500 ms”. If the
mass of each bullet is 4 g. the power of the machine gun is

28 206 S8 AN 300 engtn DU, 98 80FE Srio 500 ms™ Bk
8 20gt ¢34 g, wand 6 ars Fdvd

o5
Options :

3.6 kW
, % 3kW

5.4 kW

2.5 kW

Question Number : 88 Question Id : 550053408 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A body falls freely from a height of 100 m on to the ground and rebounds to a
maximum height of 36 m after collision. The coefficient of restitution between
ground and the body 1s

w8 D0 100 m 8o oot AN 0P G 308 wdirdo dhd 36m gl

A% B0, S, SRS Soddy HEGOFA braso
Options :

0.4

1. %

=
LN

Question Number : 89 Question Id : 550053409 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A force of (21+3 J+4k)N acts on a particle whose position vector with respect to the

origin of the coordinate system is (61+Db j+12k)m. If the angular momentum of the

body is constant. the value of ‘b’ is

QP8 H Sure Do %Q“g T V68 (6i+bj+12k) m o 2% gm0 D

A

(2i+3+ 4K) N 00 29 S0b0c) &, S99 A8, Erod 355tfo Dorr
&ot3, ‘D’ Dewd

Options :



2.¢ 9

3. %

fad

4. %

Question Number : 90 Question Id : 550053410 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The range of a projectile of weight W is R. The average torque on the projectile
between the initial and final positions P and Q about the point of projection is

W ardo o 28 pEDS0 (9 R. 9EDS Dodo Dborr 8 Sx60tn S0
Dotoidyen P 306080 Q © 06 5 i iy E76)

W

Options :

WR

IRJ‘
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Time:0

Two springs A and B fixed at the top and are stretched by 8 ¢cm and 16 cm
respectively, when loads of 20 N and 10 N are suspended at the lower ends. The ratio
of the spring constants of the springs A and B is

2 wdden Hhoctedd Goc aof e A 8ok B e 8 S08 Wdde Jerd
Bodedd eroeen 20 N 8ain 10N dod ddarr § cm oBokw 16 cm e

9D, A 2080y B 2)0f © D)0 doros'e Ay

Options :
1% 1
1. %
- 25 1
- 3:1
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Time:0

The amplitudes of a damped harmonic oscillator after 2 and 4 seconds are A; and A;
respectively. If the initial amplitude of the oscillator is Ap. then

WS w0 TTE) 8 Evso avg), S0 DB 2 xbak 4 DY S Hdrr

Aq 08050 Ay, Ewdo g, &9 400 DO Ay wond

Options :
75 :*/An*'j’-z
1.¢
> % Ay =AW,
e Ao=yAR,
P
4, % 2
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The value of acceleration due to gravity at a height of 4Rg from surface of earth is
(Rg 1s radws of earth and acceleration due to gravity on the surface of the

earth = 10 ms™)

BredBovo 00¢ 4Rg JRS HES] S

Re= mavéavgm SoBokw drenddeoy Hba] ot = 10 ms™)

Options :

| % 02 ms”

=
0.3 ms~
=3

=2
3 @ 0.4 ms

-

4% 3 mS

Question Number : 94 Question Id : 550053414 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The maximum possible height of a mountain on eatth is approximately

(elastic limit of mountain rock =30x10"Nm™, average density of mountain rock

=3x10’kem”. g =10ms™)

AP P w8 D0 F[ocly (82 JB

(oo atog), 28 TS 056 = SDxIU?Nm'Eudséo GBg), Tow o
=3x10°kem”. g=10ms™)

Options :



9 ki

, v 10km

12 km

8.8 km
4, %

Question Number : 95 Question Id : 550053415 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A person of height 1.65 m s standing upright. The additional external force required
by blood vessel of length 1 cm, diameter 1 mm at feet to balance the pressure
compared fo similar blood vessel in head 1s

(Density of blood = 1.1% 10’ kg w, g=10 s
Ty 1.65m to ws (8 Az Jowd &) 0. 98 FEA0 3¢ 1 em Fed,
| mm ol flo G5vian &' HEdandy w8 dud’ ol wBeEY

BETvan &' 2Ed0R SOOI eﬂb“@d@dﬂ){g DA EPr(aR0
(850 Arodses = 1.1x10° kg m™ g=10ms™)

Options :



1.85N

3.14 N

Question Number : 96 Question Id : 550053416 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The specific heat capacity of a copper block of mass M is ‘s”. If the mass of the
copper block s doubled, the specific heat capacity will be

503 M tows th B30 D3l Sﬂo‘.ugéo S, & B SB(o°3 B0 B,

o) By A mgg{ &m%g

Options :
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Time:0

2 moles of a monatomic gas requires heat energy Q to be heated from 30 °C to 40 °C
at constant volume. The heat energy required to raise the temperature of 4 moles of a
diatomic gas from 28 °C to 33 °C at constant volume is

2 3re © 28 DEAFELS TV f’rgd 30630 ¢ 30 °C 00d 40 °C & dé
SOEPS Q €ayes OV6B. 4 Ard © BELEAPES ToIWYM

R840 O3 28 °C 008 33 °C £ DE0LErAS SPHUND e:é}%%

Options :

|8

5Q
3

Question Number : 98 Question Id : 550053418 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A block of steel of mass 2 kg slides down a rough inclined plane of inclination of

C [ 3) o0,

il 1; q at a constant speed. The temperature of the block as it slides through

N

80 cm,assuming that the mechanical energy lost is used to increase the temperature
of the block 1s nearly

e

(Specific heat capacity of steel = 420 Jkg'K" and Acceleration due to gavity
2

=10 ms™)
(3
3
T VA0 P S06L UK B, %fesf’gcmas Qirods 38 Gy A &S &

3
2kg o gi(oe? S80S 28 &5y, B f’(gd@b 438 sin” ‘ T &) WS (DD
o /

Do, B3] T dwo 80 cm &b\ o el idS” drdy el
CEVRENE aomgéo =420 Tkg 'K oBotw A éidmo = 10.ms”)

Options :

; » 0.0190°C

5 0.0114°C

0.0152°C
£

0.0952 °C

4. %
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Isothermal bulk modulus of a gas at a pressure P 1s

(y - ratio of specific heat capacities of the gas)

¢do P sﬁcg 208 7030 tfuoegj ;SPeb) egﬁg@“ e2aeR (easo
(7 - e TR Fdozr© )

Options:

Question Number : 100 Question Id : 550053420 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A vessel of volume 10 liters is filled with H, gas. The total average translational
kinetic energy of its molecules is 4.5x10°J. The pressure of hydrogen in the vessel
IS

10 béag 208 DOTEI0 arﬁl AL 3‘3@ H, mo:iné_)éﬁ R0DRE0S. BEDDHY Qo
Mk Fodtes 18 33 4.5x10° Tewowd, I8’ Ead Tahu) e

BEH0

Options :



% 3x10°Nm™

- 6 WTyry—2
4 N
- 30x10° Nm

30%10* Nm™

3%x10* Nm™

Question Number : 101 Question Id : 550053421 Display Question Number : Yes Is Question
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Time:0

Small amplitude progressive wave in a stretched string has a speed of 100cms™,
and frequency 100 Hz. The phase difference between two potts 2.75 cm apart on
the string, 1n radians, is

w8 Tt Habwdd A’ 38, 802 DBVA tfo 8 DB S0t Do

100 cms™ 208030 :5“555;33&50 100 Hz. mcﬁgc&ﬁdo 2.75 cm e.#)cl G0ty Dot
Sockg &5 8co BELYES

Options :

w 0

1.

11

| A

2. ¢

S |

3. %



Question Number : 102 Question Id : 550053422 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Blue colour of the sky is due to
e55°%0 DS S cokerdS s8eo
Options :

reflection of light

57083 DT°DED0

refraction of light

S0 SH33930

diffraction of light

508 D80

scattering of light

Sr0ed DOED0

Question Number : 103 Question Id : 550053423 Display Question Number : Yes Is Question
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Time:0

The property of light which cannot be explained by Huygen's construction of
wavefront is

Py S0 o7 0 IB0BT) 5708 (60
Options :

Refraction

., D3BBD0

Reflection

HT°DEHo

Diftraction

DDBDo

Origin of spectra

;ﬁg DETFOS) A0
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Time: 0



The electric field (EnNC™) in a region is given by E=3i+5i. The net electric
flux through a square area of side 2 m parallel to y -z plane is

w8 OB DS Edo (EinNC™) E=3i+51 AWANB. Y- S
OArodBorT &od: 2 I Fworie SSY TV BT Jab dsd UaV(E
e9DTaT0

Options:

-

3 NC'm?

6 NC'm?

12 NCH

24 NC'm?
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Time:0



Two thin conducting concentric shells of radii R and 2R are shown in the figure. The
outer shell carries a charge +Q and the inner shell is neutral. Then the correct
statement’s 1s

(a). When the switch is closed. the potential on the inner shell becomes zero

Q

(b). With the switch closed. the charge on the inner sphere is &

mé.ﬂﬂgw R 208050 2R e o G0t 0e0sd T7irs 2% Sog Avdne Db’
SPHRE. Eri Avdm  +Q esd%dw fod LBak wedd Ao SeR0.

€900 BADA DVeILIDSW/ 0
(a). B Q 2, wodd Ao cGg) S"eagcmes B0,

(). (S D Bardd, wodd Avo » o, —% 1R,

Options :

(a) and (b) are correct

- (a) S06as (b) e DBARAD



(a) is correct, (b) 1s wrong

(a) 286, (b) B2y
2. %

(a) 1s wrong, (b) is correct

(a) S2y, (b) DBDODE
3. %

(a) and (b) are wrong

(a) 0803w (b) en efa‘t’.;a_‘);}
4, %
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Time:0

Two square shaped metal plates of side 1 m, kept 0.01 m apart in air form a parallel
plate capacitor. It is connected to a battery of 500 V. The plates of the capacitor are
then immersed in an insulating oil by lowering the plates vertically with a speed of
0.001 ms™. If the dielectric constant of the oil is 11, then current drawn from the
battery during this process is

28) 6 & i 1 m &) Socd SBGFE & 505 Dudody mdS” 0.01m
GEPEom &ot) DTS HOSY SR06 & A omrd. AAF 500V AOLR
0. & 3306 DL Ay JewdHr 0.001ms™ S8E Bocodr wd 0t
AP & Qwodedd. & A Bess omogo 11 wowd, & 30 erjd dvod
GRO%Y) DS Hiro

Options :

1. %



4.425%10°° A
, 4425 x107 A

4.425%x107° A
3.¢¥

o x 4425x107°A
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Time:0

When a resistance Ry 15 connected across a cell. the current 15 [y and if the resistance
Ry is replaced by Ry, the current is I. Then the internal resistance of the cell is

28 Q0P Ry ABEa0& D0 DS pariraw I, 9y Ry
2ceum Ry DB candy €908, ey Hariran T ©owd & otdw

@oé&lgﬁm
Options :

IR, +LR,
5 4%,

IR, +LR,
I+1,




IR, LA,

3 % I -1,
LR, -LR,

I -1,

4.9 )

Question Number : 108 Question Id : 550053428 Display Question Number : Yes Is Question
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Time: 0

Charge passing through a conductor of cross-section 0.3 m
q=(3t"+5t+2)C where ‘t' is in seconds. The drift velocity.at t = 2 s is

is given by

(Concentration of electrons in the conduetor =2x10°m™)
D63\ FT0[0 03 I 0 28 TErSan Dot D308) S edto
q= (3?2 +5t+ 2)(? m @aﬁsuds{:&. 98] ¢ [ 5°00 R8ode” 0B, w0 t=2 § 20

&9 St
(Tirgo8’ QTR Pogdd =2x10"m™)

Options :

- 0.77x107ms™

0.93x10" ms™
3w L77x107ms™

2.08x10ms™
4. %
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Time:0

A magnefic field intensity at the centre of a circular wire of radius 0.1 m carrying a
current 0.2 A i

TR0 0.1 m o a8 JyFrsd B’ 0.2 A Doy pdarios, o Sogo 34
WO 08 ES

Options :
2nx107°T
nx107'T

10T

Anx107'T
4, &
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Time:0



A wire 1s first bent in the form of a circular coil of 5 turns and the same wire is then
bent in the form of another circular coil of 10 turns. If same current is passed in
both the coils, then the ratio of the magnetic fields at their centres is

28 R0 A6k 5 ik ot w8 HTTE T, ShaTd ©d S 10 dew
G0t ST 6 SRma Soerdd. Gock togped’ a8 ko &

DeP00BY, T8 Sore S wahd0d Egro AKpd
Options :

1:8

1. %

5 % 11

3 % 12
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Time:0

A solenoid has a core of a material with relative permeability 400. The windings of
the solenoid are insulated from the core and carry a current of 4 A. If the number of
turns is 500 per metre, then the magnetizing field is

D8 26,0009 400 to DT £6 m wé FdTont 498 cod. FdTané
cSotgen 86 d0t) DeixfByodesd, O 4 A DS DIIPRRN B, w8 RGOS

o8y 02§ 500 &) o, o) 0bsdn E350

Options :



| % 2MX 10° Am™
1x10° Am™

4x10° Am™

3. %

T
4 2% 100 Am

Question Number : 112 Question Id : 550053432 Display Question Number : Yes Is Question
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Time: 0

In an ac generator, if coil of N turns and area A 1s rotated at v revolutions per second
in a uniform magnetic field B, then the motional emf produced is equal to

(Att=0s, the coil is perpendicular to the field)

w8 aC ¥OBLOS', w8 D968 LA 00 §do B & Nebtw ok 5oj0 A &)
Stfea) DEOD L PN DA SDNWED, Y\ eSS Sabacd SoTE)S
QAT VS WO

(1= 01556, Sl SIS vowoarT &od)
Options :
. v NBA (2mv) sin (2r L)

NBA? (2rv) sin (2rvt)

2. %



N’B’A° (2rw) sin (2r v1)

4% NBA (4nv) sin (2 vt)
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Time:0

; ; : o s . 0 ... .
The frequency of ac at which 16 yF capacitor and — mH mductor will have same
2

reactance 1s

10 : _
16 uF $arad bt — mH o080 w3 5880 $Dfatvod ac avg)
ﬁ— b

aveoe:g_)a?go
Options :

1 kHz

1. %
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The average power output of a point source of an electromagnetic radiation is
1080 W. The maximum value of the rms value of the electric field at a distance of
3 m from the source 18

W ngmew Sboffo 308), w8 Dok aidgo R0), Hrfkw A aﬂmgéo
1080 W. 2d%0 &00é 3 m drdoss” aM(Y £S5 s axs), A6 Densd

Options:

|
1% 20 Vi

5 % 40 V'

|
3 ¢ 60 Vm

4 % 20 v
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Time:0

The velocity of a particle A is 3 times the velocity of proton. If the ratio of the de
Broglie wavelengths of the particle A and the proton is 3:2. the mass of the particle
Ais

(m, —mass of proton)

w8 S0 A o), So Jerdo SrrdS 3 5. S0 A duboty Jerive derad
Sdofs Qgéu daNG 32 wand, Smo A dog) BH(0°2

(m, - Jerdo gdoed)

Options :
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Time:0

The transition of an electron in hydrogen atom that emits a photon whose
wavelength lies in the ultraviolet region of the electromagnetic spectrum is

Ea DEAPEY 6 28 JUFRL g Nogdond agrdindiy Jrdy

$60ri3d 0 D030 08 Ik ), WAL eP oot Gold

Options :

- 54

433
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Time:0

The relation between the mean life time 7 and the half life time T, , of a radioactive

substance 15
28 8E03 8,8 z:}crvgo a8y Vo706 EJS Swo T Bodak wg 208 5°00

T mcé?g 20200

Options :

2. %
I,=1
3. #
L. =2vlog 2
4.% 7
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A p-n junction diode is reverse biased with a voltage of 8 V. If the resistance of the
diode is 4x10" €. then the reverse saturation current is

8 P01 008 GaIPE £ 8V 9838, S wndfomd. e doiré awg), Mo
4x10'Q sawd o 63 D08y DB DI

Options :

32 uA

Question Number : 119 Question Id : 550053439 Display Question Number : Yes Is Question
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Time: 0
In a p-n-p transistor

8 P-0-p N6 &

Options :
emitter is heavily doped and collector is moderately doped.

&rdso 0o, 2E0e3 Boc R0 A8 56830 BALLWE EotTo.
1.¢ -



emitter is moderately doped and collector is heavily doped.

&S0 [0 25063 wOZoTr ArASE80 BOLWE EotTow.

both emitter and collector are heavily doped.

&rdso Sodain 8083 Soctr Qg Ardgdno Baed eotraow.
3. %

both emitter and collector are moderately doped.

e%?déo 206040 2E6e3 Godr aﬁscj?g“gorw SrHd6e0 SaDed Sotrown.
4, %

Question Number : 120 Question Id : 550053440 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A carrier wave of peak voltage 15 V 1s used to transmit a message signal. If the
modulation index is 60%. then the peak voltage of the modulating signal is
208 D083 V05T DG BaerAd 15V 38 S g2 fo T8 Sorrdy

GOAFOTD. PSR 2re) 60%, 900D S 2§F80f R03d0 9200 Sga

Options :

3V

1. %

6V

3¢ IV
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Vijayawada FM radio station broadcasts at frequency of 103.4 MHz. The
wavelength of the corresponding radio waves (in m) is

duabare FM 6dair s 103.4 MHz 3“663?’..1)&50 3¢ DFTOR B8,

20808 SAdr ddorre 8601360 (1 v

Options :

v 290

29.0



9.20

92.0
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Time:0

The minimum number of quantum numbers required to specify an orbital in an atom
is

28 DOAPIY SN WS B AWrdodmE THUV 40% SICRSENG

"«00;35

Options :

1

1. %

-2

rd
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Consider the following two statements
Statement I: Among Mg, Al, Mg™, AI” the one having smallest size is Al

Statement II: Eu is having exceptionally high atomic radii among lanthanide
elements

The correct answer 1s

408 Toco T(0[O H00tdots0d

gL Mg Al Mg", A" o8, A" & ey H8arno Soi

T II: erogsé daresod Eu & éarodd stmrl Qs%b DBSFED
a°5$°go g0

NBALA DArTR0
Options :
Both statements I and II are correct

aegagen I aodoin IT Soctr HEADHD
1.¢

Both statements I and II are not correct

S DI I 2060300 II Godor PBADAD 7D

Statement I 1s correct but statement II not correct

°ga0f 1 DOCDLIG 520 arjany II HOALIE 57k
3. %

Statement I 1s not correct but statement II 1s correct

Segaf [ 28a1HSE 570 57 ey I 26a1OE
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Time: 0

Identify the pair of elements with the highest and lowest electronegativity
respectively

SDIT BSOS Dbk wdfoy oS 3N o rese 288 hBedod
Options:

K and Rb
» K &o8aiw Rb

ITand F
[ 083w F

F and Fr
F S08c30 Fr

Frand L1
Fr so8o30 Li
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If the bond order in C; 15 ‘X’ then the bond order in B, and O, respectively are

Cy o?msb 206 Se00 X’ 900A B) so8oin 0) & a0 Saren doRre



Options :

1
—. O
1.% 2

233 X-.K

Question Number : 126 Question Id : 550053446 Display Question Number : Yes Is Question
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Time: 0

Identify incorrectly matched set from the following

So8 &) dwocs 0O ¢ Sabercta (incorrectly matched) DS HSoc
Options :

Molecules with incomplete octet-BeH,. BCl3

29008 ®yso &) Wrwa)ew - BeH, BCh

1. %

Polar molecules- BF;. CCly

G0 esgdsdyen - BF;3. CCly
2.¢



Molecules with expanded octet- PCls, SFg

@gs DR eéi eagavsHew- PCls. SFe

0Odd electron molecules-NO. NO,

8300 R0 VTR BEVHWO- NO. NO,
4, % -

Question Number : 127 Question Id : 550053447 Display Question Number : Yes Is Question
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Time:0

An ideal gas (X) present in a vessel of volume V L exerted a pressure of 16.4 atm at
200 K. What s its concentration in mol L9

(Given R=0.082 L atm mol” K'I)
200K ¢, VL 0850 o 38D wesdy aroinsd (X), 164 atm DT

ot #5208, A rreéed mol L e doch?

(ady%6 : R=0082 L atmmol” )

Options:

. » 1.00

4 % 1.50
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Time:0

A 100 L cylinder containing Hy exerted a pressure of 4 atm at 300 K. It was
accidentally opened and some H, was escaped. When it was closed, it exerted a
pressure of 3 atm at 300 K. The number of moles of Hy remaining in the cylinder is
equal to

(Assume H, as an ideal gas; R = gas constant)

300K &6, 28 100L 20066 &' Hy $e ko oEdsw 4 atm, HArESTd
A3 Sard Stodeciod. Sod Hy dwottd dod b 39y:T'ow0d. Sardiy
DAY, 300K ¢ dwocd & St 3 atm. Heods & DAd &) H

A7 © "aaoa:;é B3 DATHAN?

(Hy 08 65656 arasnd eoSodw) (R = aeohn AT0S)

Options :

A | =

3.¥
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Time: 0
Observe the following reaction

306 130§ 2 D63Docis

Cl,(g)+20H (aq) - ClO™(aq)+CI (aq)+H,0(])
Identify the correct statements about this reaction

& 06{ S Dowodor) FOALA Tf{UM Adocsod

I Cl, (g) is oxidized to C1O™(aq)
CL,(g), ClO(aq) ™ s856e90 SoBdG

.  (l(g) is oxidized to CI"(aq)
Cl(g). CT(aq) m es586e30 S0BDE

111, . (g] is reduced to ClO™(aq)

Cl,(g), CIO™(aq) ™ Sapsdmo 3B
CL(g)

(

IV. ?
CL(g), CI'(aq) m gapHsdeso SodHE

) 1s reduced to C1"(aq)

The correct answer 1s

OGS DATERH0
Options :

[. IV only

I IV S8
1.9

L. IIT only
. LI Socgdao



L II, IV only

L IL IV Sorgdan
3. %

IT. IIT only
, ILII S0

Question Number : 130 Question Id : 550053450 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the standard enthalpy change (A,H®) for a certain reaction at 298 K and constant

pressure is -1860kJ mol™ , the standard entropy change (%Sﬂ ) of the same

reaction is -550 T K mol”, which one of the following statements 1S correct?
298K, %0 SER0 96 PR ST ;)oc;s“@;)e.'}ﬁ Srdoy (AH) -1360 kT mol”, &
36(% parn B8 & artdy (4,5')-550TK ™ mol” sows $o6 ddmwd’

DB WBRG?
Options :
(i\.mSG )+A, ST=-76927T mol™ K. the reaction is spontaneous
(A, 8)+4,,8°=-7692 Tmol 'K, 56 erod) gy
1. %
(AmSGH A8 =-5692] mol” K™, the reaction is non- spontaneous
. (A,,8°)+A,, S =-5692 Tmol 'K, 36§ evdasodsy g0



(A S)+A__S"=+56921 mol™ K. the reaction is spontaneous

(A, S7)+A,, S =+5692 Tmol ' K™, 3¢ esary gyébo
‘;2

(A S°)+A_ S =+7692] mol™ K, the reaction is non- spontaneous

EYE

(A,S°)+A,, " =+7692 Tmol K™, 6] exdotxéy g0

Tys

4. %

Question Number : 131 Question Id : 550053451 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the standard enthalpy change (A, H") for reaction H,(g)+Br,(l)— 2HBr(g) is
~72.8 kI, the standard enthalpy of formation (A, H" ) of HBr (g) (in kI mol™) is
H, (&) +Br, () - 2HBr () O DATE Joqrbg & Sy (AH")-T28K

0o HB (5°) 286 Honobd Jogﬁ«% (k7 mol™ &)

Options :

1.¢

-18.2

, x H182



Question Number : 132 Question Id : 550053452 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At T(K), the equilibrium constant for A (g)==B(g) is 10~ If rate of forward

reactionis 0.025mol L™ s . The rate of backward reaction (in mol gt )18

T(K) 96 A ()]==B(g) 56 % 206" 23 rrosiw 107, B 56 Gew
0.025mol L s evand 98 mﬁ Seomol LT s ol do?

Options :

4%10*

1. %

_.-I_
L« 2.5%10

5 v 2.5x107

5x107°

4. %

Question Number : 133 Question Id : 550053453 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One mole H,O(g)and one mole CO(g) are taken in 1L flask and heated to 725K.
At equilibrium, 40% (by mass) of water reacted with CO(g) as follows

H,0(g)+CO(g) = H,(g) + CO,4(g)

Its K, valueis

w8 2re H,0(g) So80kn a8 are CO(g) vk 1L @oi% & S8 725K 36D
5 SF. 20T 96, 40% (g gorr) A, CO(g) & S0 Dggorr 30
Q0808.

H,0(g)+C0(g) = H,(g) + CO,(g)

69 K, dewsd
Options :

0.444

1.¢

L« 2220
0.222

4 % 4440

Question Number : 134 Question Id : 550053454 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The O-H bond length in H,O 1in gas phase is

TPO3D P9 e5° H.O 5°D 0-H 2008 38,0
ot @ 7 a_@}‘s



Options :

C
v 95.7pm

, « 90.2pm

- 104.5pm

115.5pm

4. %

Question Number : 135 Question Id : 550053455 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following alloys are correctly matched with their uses?

i) LiMg armour plates
ii) Cu/Be high strength springs
ii1) Mg/Al atrcraft construction

S0 2 QB FFen T GOATTOE VBT S BALWEDD?

i) LiMg SdTeen
ii) Cu/Be 50 B0 (L f‘a;}oﬁ 3
ii1) Mg/Al DATTV DT 0
Options :

1, 11 only

1, 11 e

1. &



i1, ii1 only

1, 111 only

i, iii Srado

i, 11, 111

Question Number : 136 Question Id : 550053456 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Match the following
08 T 2 DADEAD
List] ListII
e | &doe [I
(Group 13 element) (metallic radius, pm)
(@D 13 Suredo) (& a§-go. pm o)
A Al I 135
B Ga II 143
C In 1 170
D Tl IV 167

The correct answer 1s
RBCDLA VATTV0

Options :



A-L B-IL C-IV, D-IIT

A-II. B-1. C-IV, D-III

3« A-IIL B-1V, C-II, D-I

A-II. B-1. C-III, D-IV

Question Number : 137 Question Id : 550053457 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the acidic oxide from the following

So& 7€) o) 3 35 & A DS WAL

Options:

SnO

4 % PbO

Question Number : 138 Question Id : 550053458 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

In the Kolbe electrolysis of sodium propanoate, the products X and Y are formed at
respected electrodes. What are X and Y?

Teato FoSE & §Sy Doy Diaae med) 3o X Bty Y edyTyen
D008 JOEE © S8 DD, X 2w6atn Y Ii?
Options :
X = CH;3-CH»-CH>-CHj at Cathode: Y = H> at Anode
X = CH3-CH-CH-CH; S°8& 3¢ Y=H; a35& 3¢

1. %
X = CH3-CH,-CHj; at Cathode: Y = H» at Anode
X = CH3-CHy-CH; °8& 58: Y =Hy 358 3¢
2. %
X = CH3-CH»>-CH,-CH3 at Anode: Y = H» at Cathode
X = CH3-CH-CH»-CH; 28& 5&: Y=H, =8& 56
3.¢ = "
X = (CH;3-CH; at Anode: Y = H» at Cathode
X = CH3-CH; 335 & 88: Y =H, 58& 5¢
4, % & =

Question Number : 139 Question Id : 550053459 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following molecule is not aromatic?

208 T°5° VO 3T ATES 5°E?



Options :

Question Number : 140 Question Id : 550053460 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
An example for network solid is
s méfamﬂgbé =X 1o o)

Options :

. » Si0y

2. ® MgO



CEFg

- ZnS
4, %

Question Number : 141 Question Id : 550053461 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

20 mL of 0.1 M HC1 15 added to the 30 mL of 0.1 M NaOH. To this solution exira
50 mL of water was added. What is the molarity of the final solution formed?

20mL & 0.1 MHECL % 30 mL & 0.1 M NaOH £ $dard. 493 50 mL & &
00T DN EDOD&KJ G0 08 dod?
Options :

L% 0.1M

, v 0.01M

Question Number : 142 Question Id : 550053462 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The molarity of one molal glucose solution having density of 1.2 g/mL is

1.2 gml Frogse DAL 1 drerd drSS rodmo ahog), Sersd

Options :

0.101 M

1. %
1.0I M

v

5% 201M

4« 0.001 M

Question Number : 143 Question Id : 550053463 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The conductivity of a solution containing 2.08 g of anhydrous barium chloride m
200 mL solution is 6x10~ ohm™ em™. The molar conductivity of the solution (in

ohm™ e’ mol™) is xx10” . The value of xis
(Atomic mass of Ba =137, C1=35.5)
208 g wd 3600886 200 mL Trdeaos’ 60 YD T TErSS0

6x107 ohm™ cm™, & @rdmo Arerd TIPEH0 (ohm™ cm? mol™ &) xx10’
oS X Ded (D6Are dgoe2 Ba =137, C1=35.5)

Options :

1.2
1.¢



, % 24

% 3.6

Question Number : 144 Question Id : 550053464 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For the reaction A+B— C. the following data were obtained

Expt. Initial concentration Initial rate
[A]M [B] M (M min™)
1. 0.1 0.1 1.0x107
2 0.1 0.3 9.0%10™
3. 0.3 0.3 2.7x107

The order of reaction with respect to A and B are respectively

A+B—C &3 &6) £ S08 dTrozren vdotrow.

olebbylete FEoz e G0 Bew
[A]M [B] M (M min™)
1. 0.1 0.1 1.0x10™
2 0.1 0.3 9.0x10™
3. 0.3 0.3 2.7x107

A, B & Ddborr z:ﬁc“g SaT°0STeL DGO

Options :



L 1,2

.« B

1.5, 1.5

Question Number : 145 Question Id : 550053465 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The correct statements about Zeolites are

I) They are good shape selective catalysts

IT) They contain Al-O-Si framework

ITT) They are not found in nature

IV) They are used as catalysts for cracking hydrocarbons, in petrochemical industry

2OIrGE % dowodow) HOALD T*{RiR0

I) @) doow) 857 e effogcis'ﬂw

IT) & aocky ALO-Si 036, G0kt

M) 29 $48S" vz 79

IV) 28" 63ratod 2B308° HB TEE)S © DgfoaTI3 EOArHFE

Options :

1. %



I & II only
[& I g

IT & IIT only

IT & TII &oegdao
2. &

III & IV only

I & TV S0
3. %

I. II &IV only

[ II& IV soresa
4,

Question Number : 146 Question Id : 550053466 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is not the application of adsorption?

208 78¢5 DB HF N0 L VADHGIAD S ?
Options :

Use of Si0; gel for removing the moisture

DO (Si10)) @S D) DAY B Sofotdtio

1. ®

Use of coconut charcoal to separate inert gases

%D&Jaﬁl Bﬁmgjf{u EDAMIA0D) RETOINNHVA DEBAIV
2. %



Use of AL O, to separate the components of organic mixture in chromatography

S8 &, ALO, D &ddirAod dofab FE’D s S DoSEo
3. %

Use of CaCl, for removing the moisture

CaCl, & &Darfon) @080 Sofotddo
4. &

Question Number : 147 Question Id : 550053467 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

How many of the following can be purified by vsing zone refining method?
Ni, B, Tt, In, Ge, Mn, Ag, Si, Ga

308 BE D)o okw FEH BES GHEPAS) mg{s@vm?

Ni, B, Ti, In, Ge, Mn, Ag, S1, Ga

Options :

4

1. &

h

2.

4, ®



Question Number : 148 Question Id : 550053468 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For ozone molecule consider the following

(A) It is a linear molecule with bond angle 180°
B) It 1s an angular molecule with bond angle 117°
C) The bond lengths of both O — O bonds are same

(
(
(D) With respect to oxygen it is thermodynamically more stable
The correct options are

208 D BEVD)L Doerodow) S0d TR B0l

(A)@8 180° eo0cs Seaod Ko Do )
(B)@d 117° 20638t08 tfe) Sedah eoearsd)
(C) 8IS Bot> 0 -0 &0 GT 20 3H0
(D) &S 0770 DO 88\ S0t B NERNE

A8 Pe)ysrew hdodoc:
Options :

(B). (C) only
(B). (C) Ao
1.4

(A). (B) only

(A). (B) g
2. ®

(B). (D) only

(B). (D) Soeggad
3. ®



(A). (D) only
(A). (D) Srghan
4, %

Question Number : 149 Question Id : 550053469 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

From the list given below, the number of lanthanides which exhibit +4 state in their
oxides is

306 A dee &, 836 0F" +4 DA H6 08 rodRE © Doy

Pr. Nd, Pm, Sm. Eu, Gd, Tb, Dy
Options :

h

Question Number : 150 Question Id : 550053470 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements

Assertion (A): All Cu (II) halides are known except the iodide
Reason (R): Cu’* oxidizes T to I

The correct answer is

2065 Bocd L]0 BI(WTTO.
Dydo (A): 5706 AIrgs Sy ) Cu (1) HFGE e 6 erow
smo (R): Cu™, T&ulm e.eéDSdeao BRV0E

2B VAP0
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 208030 (R) &0 Botky HBOBRD 28050 (A) £ pBEDHS I3t (R)
1.4

Both (A) and (R) are correct and (R) 1s the correct but (R) is not the correct
explanation of (A)

(A) 208050 (R) 0 Bok 286D 59 (A) £ HBcd Jd6es (R) 5°&

2. %

(A) 1s correct but (R) is not correct

(A) %8RB =2 (R) HBAIE S°¢d
3. %

(A) 1s not correct but (R) is correct

L x (A) 2BEIB 5% 5 (R) BEDHIE



Question Number : 151 Question Id : 550053471 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Monomers of nvlon 2-nylon 6 are

Derd 2- PErD 6 AVI 26 e

Options :

H,N" CO,H 3 HoN :

N WP LSy
H.N" SCO,H 3 HoN ’

2. %
HN"COH 3 HNT 7 COH
3.9
W‘
HN~ OO HoN CO,H
4. %

Question Number : 152 Question Id : 550053472 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements

Assertion (A): Hydrolysis of DNA does not form equal number of A and T: G and
C

Reason (R): In DNA adenine forms hydrogen bonds with thymine and cytosine
forms hydrogen bonds with guanine

The correct answer 18

308 Gocld T{R[RD A WEO.

33w (A): DNA 20 Dgand’ A 60k T: G SoBako C 2w Hoad
D%d;@.

56230 (R): DNA 6" DE39. 303 § 0Bty R (RS § Téad
0EFVR ol

28GR DArEER0

Options :

Both A and R are correct and R is the correct explanation of A

A So8adn R en Gocd 200 0doin A 2 R 2000 DH66H

Both A and R are correct but R 1s not the correct explanation of A

- A Ho8a3n R e G0t 23008 570 A £ R 2%0d D588 5760

A is correct but R is incorrect

A 2BoHG 3°A R 250008 5°¢0

4.+



A is incorrect but R is correct

A 200008 5760 57 R 2000 &

Question Number : 153 Question Id : 550053473 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The structure of Gly-Ala is

Gly-Ala adws) doeyeso

Options :

H
N._ CO,H
nglﬁ( TR
0

H
HEN/\H,NTCGQH
O

H CO,H
HoN \E .
Z OH
OH
H CO.H
Y
®



Question Number : 154 Question Id : 550053474 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The group present in prontosil 1s

R 57065 &° &dy Do

T i

Options :

—N —N —

1.4

—C—NH—

Question Number : 155 Question Id : 550053475 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The optically inactive compound from the following is
206 TS DB Godes Bdoes B V) Fo?
Options :
2-Bromopropanal

2- g5 JrHoees

1. #



3-Bromopropanal

3- 5" A5 JHaee
2.

3-Bromo 2-iodopropanal

- 3-g5"a 2-e900E DO

2-Bromo 3-iodopropanal

Lx 2 A 3- wab& JHoe

Question Number : 156 Question Id : 550053476 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which is the correct option for the following reaction?

2 CH.CH,Br 2 Na/Dry ether
3005 RBLIED SO, DBAHD DDYEB E?

P A s e

2 CHyCHBr 2Mad 568

Options :

Whurtz reaction; CH;CH>,CH>CH;

%Q =) tﬁﬁé : CH;CH-CH»>CH;3;
1.4



Wurtz-Fittig reaction: CH3;CH>CH>CH;
%g & — ﬁilﬁgﬁ ?.ﬁi% - CH3CH,CH,CH;

Whurtz reaction; CH;CH,CH,CH-,CHj;

'*":“g&; ) rf)ti?g — CH;CH,CH,CH,>CH;3
3. %

Wurtz-Fittig reaction: CH3CH>CH>CH>CH3

%Q & — aﬂegﬁ ffJ{jS ; CH3CH3CH3CH;CH3
4. %

Question Number : 157 Question Id : 550053477 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of products obtained in the following reaction is

d0d :1365936 :)d;)c:‘,a Sair a(L Doy

0
0
NaOH
* >
H
A
Options :
|
1. %
3



Question Number : 158 Question Id : 550053478 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What are “X” and Y respectively in the following reactions?

308 368" X 08050 Y’ 00 SEAT DD?

OH NaBH,
CeH:CHO +  CgH:COCH, ———= » Xy —— ¥
293K major @&
Options:

C,H.COCH=C(CH,)CH.. C.H.CH,CH,COC H,

1. %

, CeH;COCH=C(CH,)C(H;,  C;H; = CHCH(OH)C,H,

, » CH;CH=CHCOCH,. C(H,CH=CHCH(OH)C,H,

CH.CH=CHCOCH., C,H.,CH,CH,COC H.
4. % - '

Question Number : 159 Question Id : 550053479 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following is used in perfumery?

308 B DD DTS EHATHIW?
Options:

Esters of benzoic acid

8303 0S5 225900 DDA
1. - e

Ethanoic acid

QA0S e3500
2. %

Methanoic acid

SSows es500
3_ W

Sodium benzoate

. DA o300 BB aes
4,

Question Number : 160 Question Id : 550053480 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrange the following in increasing order of their boiling points

N-Ethylethananune ~ Butanamme N, N—dimethyl ethanamine
I I I

408 TP T LB gﬂaﬂm 26 g008” w8 0l

N- 650 26000  aofddd N N-ZD3S agad

I I 111

Options :

NI=1>1
%

Ni=1>=1I

2. %

MI>1T>1
3. %

4 MI=1=1II



